CS2263 Lab 2 —Isaac Shoebottom

Exercise O:

Exercise 1:

Question 1:

The pointer variables are incremented correctly. They are shown to go up by the size of the data
type they hold. (Ox7ffddeee84b4 - Ox7ffddeee84b0 = 4, Ox7ffddeee84al - Ox7ffddeee84a0 =1,
0x7ffddeee8488 - Ox7ffddeee8480 = 8)

Question 2:
The increments of the different pointers are different, not the same. They would only be the same if
they were the same type.




Exercise 2:

Exercise 3:




Exercise 4:

Question 1:
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Question 2:
They are different. | assume it has something to do with the way the operating system/cpu handles
memory, something beyond my control. Otherwise | have no idea.

Exercise 5:




